N = 0l & At & Ml A

20154

H
o
2
>
ne
o
ton

SN BETAD
a8 o X
Sl BWIEN AAs (B9 ®R)

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SHAM X &t 17,481,887 16,072,462 1,409,425
2 429,636
&< 196,444
= 16,855,807
HH L XYHE A2 6,223,582 5,602,419 621,163
2 429,636
= 167,844
= 5,626,102
SHE XA A2 1,033,783 651,048 382,735
= 7,200
= 1,026,583
SsHol XA 22 170,083 141,878 28,205
101 e1214| 49,104 44,440 4,664
04 JI2ZtHIZ2Z2NEES 49,104 44 440 4,664
OSMEIHEUER) 49,104
—ESMSIHEHSE) HHMZ22
44 6402 10 x100 44 640
— A} B8 2 44 640,000 *10% 4,464
201 et 63,862 34,385 29,477
01 AR 22l ] 17,200 12,800 4,400
Ogtt4f2y| 17,200
—H2UXME 13,000 x800E 10,400
22 MHS =FHE 3,000& x8008 2,400
— AR 2dE2E HEH 6,000 40082 2,400
— 2RSS LZ(AHOIA LS
20,000& *100H 2,000
02 B232%H4| 34,912 13,635 21,277
O HZH 22 MEEZEE (2B sE) 29,612
— S &I 24 (200,000& &)
148,000 * 1041 & < 15,392
— S E 122 (100,000& &)
79,000& *180JH & | 14,220
ORCAHAIALY SISSH (AL, SH)
100, 000& 230 & 2,300
OQCIAIEBAIAE SXE 3,000
03 A2 HH| 11,750 7,950 3,800
OZ2F & g XEAL 10,750
— 22 M= 200,000 x25H 5,000
— Al (82 &8 Y S)
1,000,000& «23] 2,000
—JIE AR H = 150, 000& »25H 3,750
OBAX L AAUBK HASAYI (H49, %
s OO S) 1,000
202 044 5,160 11,000 A5,840
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SN #EXAD
MM MY L XA A2fF2F

ool MEIE A (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH o4 1l 5,160 11,000 A5,840
OHFYERF= Ol 60,0003 «2H x13 1,560
Oodd sg=d 3,600
— Ztel &t 200,000& x1H x123 2,400
—g g 60,0003 «2H 10 1,200
203 YR =&l 2,000 2,500 A 500
03 AIMZ=XH R =AY 2,000 2,500 A 500
OdAtZtel & 08 YRFA S 2,000
307 21201 A 45,360 39,120 6,240
05 RIZt2IE = 45,360 39,120 6,240
OgH2L (LAY
132,000 x210 & %123 33,264
Oxzu22 XN2eA)| 89
42,000 *2404 2128 12,096
09 MEZ 597 433 164
02 SRAHS2ACUSHILTES 597 433 164
O32&d X3 597
401 AIEHI L 2CHEI 4,000 10,000 26,000
01 A& Hl 4,000 10,000 A 6,000
OFEAL 2> E CCTV (4=82) 4,000
NAN=S=AIE 253,000 254,800 A 1,800
201 ¢er24l 40,000 40,000 0
01 At 22l 40,000 40,000 0
Oous=sgga % BI(2) 40,000
202 044l 213,000 214,800 A 1,800
01 = LH 4 4l 27,000 28,800 A 1,800
OFSEyeli= g ] 60,0003 x15H +30 27,000
05 32& WEHH 186,000 186,000 0
OFRUE (Y
60,0003 *30H +30 54,000
OFRUE (X nEH)
60,0003 *60H 30 108,000
Osdun=d48uH 6,000,000& x4 24,000
F89 g4sl 49,000 109,600 A 60,600
201 Let24E] 10,000 10,000 0
01 At 2t 2l 5,000 5,000 0
OXzEH ¢ 5,000
—WEE"d B0k 2| 45
2,000& 4005 800
—%®= 2 JIEW HNE 100,000& *4 3] 400
— 942X AtE 200,000& »43] 800
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MM MY L XA A2fF2F

ol MEXX oA CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— XOHEA 224 JIES M=
15,000& x200H 3,000
03 S ALS H I 5,000 5,000 0
OXZ2A ==& 5,000
202 04| 1,800 4,320 N2,520
01 2L Y] 1,800 4,320 N 2,520
O XX EHHI2E 3 2 & A 60,0003 x2H x53] 600
OAMN - Z2HEE2 3 & A 60,0003 x2H 53| 600
OXOMZEA L WEEEFE 60,0008 *x2H x53] 600
301 dEtEAZ 7,200 65,280 A58,080
09 HALAHIEA = 7,200 65,280 A58,080
OXOHZH & NREHE =X ZHAHALHA(DAA
S 40AIZ) 7,200
306 EH= 30,000 30,000 0
01 &9 = 30,000 30,000 0
OdYd 421883 493 30,000
2ote 2/ 5,000 27,500 N 22,500
303 A2 5,000 7,500 A 2,500
01 ZAZ 5,000 7,500 A 2,500
OLots 290ITY 24T HAE
200,000& »25&=+5Y 5,000
ol =2l | 76,170 63,970 12,200
201 Bt A H| 7,950 5,750 2,200
01 AFR2 22l Yl 4,950 5,750 A 800
OgbtgH| 4,950
— 3o (M) HE 1,000
—EE=HX 1,950
2l = 1,000& +1,5008 1,500
40 S 38 50,0003 *3& x33] 450
—AdMHET(Rs2I A 3L S)
200, 000& =104 2,000
03 S ALS H I 3,000 0 3,000
Os& JI2HH 0283 ot SHAL 3,000
301 dEtE A= 68,220 58,220 10,000
09 HAIAHI EA = 960 960 0
OoRseIl T/FE 39 A Ha
10,000& *x24H x4 3| 960
11 IIEtE &2 67,260 57,260 10,000
O&AX K& 45,000
OJIgH g8 MUK MEESE P20 XA
50,000& x250H 12,500
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Sl WHEN AV CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o&dgstd stdl XI& 100,000& »60H 6,000
Oz &8 dg Hdz N2 100,000& »20H 2,000
OHL M =LA X 4,400 =400 Al CH 1,760
oo & AL 404,430 53,300 351,130
201 Let2d] 2,930 3,300 A 370
01 At 22l I 630 1,000 A 370
Oz & #AFE ZEHI
7,000 «3H x302 630
03 &Ar2 Gl 2,300 2,300 0
Ozale & &A 2,300
— 0o & MIHMZE 200,000& »3H 600
—dgdsda ML 200,000 »1H 200
— 32 ¥ AIHM= 100, 000& 5% 500
—=&EE Mx 500& *2,0000H 1,000
301 LA Z 1,500 0 1,500
09 EALAHIE &S 1,500 0 1,500
O & S8 UMTAT B4 1,500
307 glz2tol & 400,000 50,000 350,000
04 DI2HHALALSE E X 400,000 50,000 350,000
ORM393 =219 & S#HAHMSZEHA) 200,000
OHM39al 2oy s8N 200,000
—gZs, 4E8d 20,000,000 x2S ™ 40,000
—JIetS™ 160,000
UMZHI DHR X 7,200 0 7,200
= 7,200
301 LB A F 7,200 0 7,200
< 7,200
01 Mel28E+06l= 7,200 0 7,200
OLMZEI X222 FAICH TIcH A XI&
300,000& x2H x12& 7,200
< 7,200
QI2HOIS| M Xt &l B R AFEFE & Z AL 20,000 0 20,000
207 RO 20,000 0 20,000
01 A7 39l 20,000 0 20,000
OIS T AEHEA EHEH T E 20,000
Qg sEdNESS XA 48,900 0 48,900
301 et Az 45,300 0 45,300
09 SALAHIE &S 45,300 0 45,300
OZsE /I f3s s 44
60,0003 «45% 33| 8,100
OSLEANEDS FA24 60,0002 «45H x13] 2,700
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ool ZRE SMSTEA ¥ XX 243 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—2NEES a2 7Y
35,0003 x5 A 292 A 5,075
—SNERE BEAR 7Y
50,0003 *58r A %152 A 3,750
—2NMD2E AEF P 1,000
—2HD 4RASI| 423 29 869
Gl IHE & 27,500 20 »33] 165
a2 352,000& »2CH 704
—Anti-virus 2ZE 0 2
16,500, 000& 14! 16,500
—H&E JISs&e A8 0A232 2 ol 2
12,000,000& 14! 12,000
Og & dl 2,520
—HAY E2 7,0003 x2H « 1541« 128 2,520
02 =224l 63,875 63,875 0
O3 & HA 43,760
— &2 ANE 24, 2FEE 3 (HEHl)
4,000,000& *13] 4,000
— &g AE 2 Eosldl(HASHl)
3,000,000& x13l 3,000
—&d=2 sHEXNY 25+ EIsIHI(HASH])
2,000,000& x13l 2,000
—RER= 34,160
ot H 2703 *150& *250 10,125
SISH(WE2 TH)
2,000 *40= »250 20,000
g A 2203 x128+250 660
EN =z 2,250 «6& 250 3,375
- BEXNY MY U ZHLEHE
600,000& = 1CH 600
Oog2azZdlsX 4,500
—OIMD| BCRE wWe & =4
800, 000& 33 2,400
—MEI #HZ L Al =&  700,000& *33 2,100
O2dg3stE gl 4,357,000 = 1CH 4,357
OA& &8l ®Xldl 11,258
~EEIEBANAY SAULL 2
187,620, 000 *6% 11,258
202 Odl 5,280 7,140 A 1,860
01 =S LHAYI 5,280 7,140 A 1,860
O=dHlAN g2=2 60,0003 1 20 1,200
ONADFARET (HAHA)
60,0003 1 20 1,200
O2MAMESHEI(EE) 30,0003 «8 122 2,880
203 ¥ S =&l 22,000 22,000 0
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03 A F=XH S =AY 22,000 22,000 0
OFR 2HYe =d S 22,000
207 A RO 95,706 22,000 73,706
02 & AR I 95,706 22,000 73,706
OEFIIS2eANLY EUNEM 0/2EA
95,706,000& » 14! 95,706
405 XtAtE SHI 1,000 4,600 A 3,600
01 AL = ZH SHI 1,000 4,600 A 3,600
O AgS =2 Jtollet ¢ 1,000
SR 4= 1,225,900 1,140,400 85,500
201 £B-2%H| 1,118,400 1,040,400 78,000
01 At 22l 128,400 128,400 0
OZLaIE Aoy A 22
18,000& »800H 14,400
OZd ==X AZHAH 300,000 380 114,000
04 XEEENH A S ZH 990,000 912,000 78,000
OXFE=ENME ZOE 08U
1,200,000 «825H 990,000
303 Z& 3 107,500 100,000 7,500
01 243 107,500 100,000 7,500
O&tH Al Z A I 77,500
—IHZRRA 500,000& *40H *23] 40,000
—EIZHESRE 1,500,000& «25H 37,500
OJIEtZ &= 12,000
—ZEANH SZTZRIAZL 200,000 «60H 12,000
O =33 &8s XA 60,000& 300 18,000
HHHBHE So WAANYFE 7 2,186,199 1,168,884 1,017,315
2 429,636
< 160,644
[ia 1,595,919
BYYES TSI PE 54,862 40,441 14,421
= 12,064
s 42,798
201 £B-2dH| 54,862 40,441 14,421
= 12,064
i 42,798
01 At 22l 54,862 40,441 14,421
OANZ+F Mel=E2MH 2S(LR) 15,601
2 3,544
i 12,057
OAZ7 SSIIBAAE S ZHUMEEES
OHASEAN (& X) 39,261
= 8,520
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SM: BIXED
HE: M) U LB ABUS
+

ool BHIPIE S MNNYFE P CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—2-lct MY 218,863,300 *8%+*4/12 5,837
— SHOIXAMH 70,000,000 *7% 4,900
—JISS A 234,260,000 *7% 16,399
—&dTZMH MU 134,352,000 *8% 10,749
— &= EHOolX 67,210,000& *9% 6,049
— OIolEHolA 220 66,000, 000& *9% 5,940
—HEUDE MAMTY (2H AL, S0)
632,376,000& *7% 44,267
—FUFB0/E4 MAEHl 95,085,230 *7% 6,656
— A RHE 51,334,000& *7% 3,594
—PCHHRIBEESAIAEY 38,800,000 x7% 2,716
—HHIEL SHEIH(2E, S, AIHD)
1,000, 000 *30H & 3,000
202 o4dl 1,560 1,800 A 240
01 = LH o4 4l 1,560 1,800 A 240
OHZI2S DS L AT A
60,0003 x2H 8 960
OBlY? AL 2 SUDS &4
60,000 x2H 52 600
207 Ao EH] 250,000 3,000 247,000
02 & &HIH I 250,000 3,000 247,000
Oz WX = 250,000
403 XSS X201 & 85,486 78,568 6,918
02 S| 2SOl CHSHCH & A B 85,486 78,568 6,918
OANZ7 HETBAAH(SSIIE) RAES 69,144
OAZF Mol=RAIAE RS> 9,342
OMS=dZANAE 2N 7,000
405 KtabH S| 62,800 0 62,800
01 HAtH ESFH S 62,800 0 62,800
O#FIMA Y P (BHFH, 2UH) 60,000
O=d808 ZZ2HH 1Y 2,800
FESoS2AANSEAMS 33,432 33,092 340
= 4,572
< 9,144
[ia 19,716
307 21201 A 33,432 33,092 340
= 4,572
< 9,144
s 19,716
03 QIZtHNHE2HHEX 33,432 0 33,432
OFEsI0lEe T2 22X SEHAY (2 &) 13,716
— 84 SHEZs0s 22|
1,270,000& 18 «12& x90% 13,716
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ool BHIPIE S MNNYFE P CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHIEAEE L2083t 2L
40,000& *50CH 2,000
OSHAMRA AHYESDI 2
150, 000& »50CH 7,500
OzZ-S582 & =2SHI WM+
3,000,000 » 14! 3,000
BTt =x 50,000 56,875 N6,875
< 22,500
s 27,500
402 RI2EA=20| A 50,000 56,875 N6,875
< 22,500
s 27,500
01 It AL E X 50,000 56,875 N6,875
OsHEXNSE Z2HIANLNY 7=
3,750,000& * 1204 A 45,000
< 22,500
e 22,500
ORHEQHY 01EAX HAAMS(2ER) 5,000
QIHRAZTEAE WHAY 70,000 210,000 A 140,000
< 21,000
[ia 49,000
401 AIEHI L 2CHYI 70,000 210,000 A 140,000
< 21,000
[ia 49,000
01 A& HI 70,000 210,000 A140,000
Ok= UEAZEAE WHAEY 70,000
= 21,000
s 49,000
CCIVE S 2 HdE 2529 826,000 0 826,000
= 413,000
< 108,000
[ia 305,000
401 Al HI K 201 I 826,000 0 826,000
= 413,000
< 108,000
[ia 305,000
01 A& HI 826,000 0 826,000
OCCTVE 2 MAEH =AY 826,000
= 413,000
< 108,000
[ia 305,000
Ol BHE AR 1,107,010 1,083,010 24,000
orgt&2tel 1,085,010 1,063,010 22,000
201 ¢et24] 2,000 0 2,000
01 At 2t 2l 2,000 0 2,000
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D AHEXAE Y
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DA Y XNEdEE AU
D AEYE BRACARSHI R croEe)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Mgts BRIAL-ANESAEF 85,400 115,780 A 30,380
CAZHZRS 58,400 61,780 N 3,380
201 B9 7,200 7,340 A 140
01 AP 22| H| 7,200 2,340 4,860
OLA2H =8 DNRLAE 500,000& *23] 1,000
O A 22 & 29 250,000& 23] 500
o=l 700
— L AZEE FA S 7,000 20 x5 700
OJEALM XNAH SRS 22 5,000
202 o4 | 51,200 54,440 N 3,240
01 2Ll 21,200 24,440 N 3,240
OREA AIEE S&sE 60,0008 100 *13] 6,000
OLANESRIAE A 60,000& 508 *x2U x23| 12,000
O=Y & T4 L AM2EH 5o &AM
60,000 *2H x5! 600
OL24EY S DEAL =T Y|
60,000 2 x5 600
OR/F™AM KNAH S AYES X0 S 2,000
04 =M 3t dl 30,000 30,000 0
O&EZX L AI23 H2H A 30,000
L AlStE St0tS M3 24,000 24,000 0
201 et 24,000 24,000 0
03 A2 G HI 24,000 24,000 0
O ALSHE stitsS dM=sUa 40,000 »600H 24,000
NEAW SHOtS M=UE JH A 3,000 30,000 A 27,000
201 LBt 9| 3,000 30,000 A 27,000
03 A2 G| 3,000 30,000 A 27,000
OAZ X GAWCHH SAF & A 3,000
=3 St MEd 1,319,580 1,141,980 177,600
= 28,600
= 1,290,980
M= L oIEs 1,307,580 1,129,980 177,600
= 28,600
= 1,278,980
mME=NE=! 999,960 803,360 196,600
201 LBt | 3,400 3,400 0
01 AP 22| d| 3,400 3,400 0
Ogbt4=24| 3,400
— AP SHESSAHMIT(AEALE)
400,000 5= 2,000
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— 0t A=A Ad =4 2 ofelofst
A 29 HIF MAIEE 70,000& *20H 1,400
202 o4 | 1,560 960 600
01 2LHO! | 1,560 960 600
ORSYLHEE U A& &4
0,000 23 13 1,560
308 XX EHSOIA 995,000 788,000 207,000
08 W=EJl&otistE = 995,000 788,000 207,000
O30 A20EXZNAF X&
45,000,000 x40 1 180,000
Q2O MEHME SHEXFS (MY 0CI2ZA
olAH| L EH) 120,000,000 =100 £ 120,000
OXMen WEXF X (3000)
200,000,000 *1JH A 200,000
OEHMds D1 4 XH 8,750,000 404 1) 35,000
OAxmr2sn dus X3
7,000,000 * 1001 12 70,000
Ogts WX (30 ==101W) 120,000
Ogosgz= 20,000
OME=A £g9Z27)d 2H(xE38HH) 20,000
02X 5% NA(LTFYE)
50,000,000 10 1 50,000
OZANE=E (22D 2XWH) 150,000
Oxssy gitgs B Tz ) 29 30,000
SAX A NE 204,100 168, 100 36,000
201 et d| 116,100 24,900 91,200
01 AR 22l ] 116,100 24,900 91,200
O32& A=20nEs LAsE
800,000& *3H x10& 24,000
OZ22d 220 U= Wil & A2E 900
O221 AIlX WS 300,000 2004 60,000
O3&X JHEAS A3AS 31,200
— "X 60,000& 2 x200H 24,000
— 2| A H 60,0003 x2 x60H 7,200
202 o4 | 88,000 89,200 AN 1,200
04 =HI 30 bl 88,000 88,000 0
2o BBSAY OoEoa(HEo) X
& 1,500,000 4™ x3&! 18,000
OdlHAES &y A 2,000,000 x35H 70,000
=0l MY = 46,320 41,320 5,000
201 Yer2 | 46,320 41,320 5,000
01 AP 22| H| 1,320 1,320 0
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OCEMINE B8 tHE: d2Z0s
220,000& *3H At*23] 1,320
03 & Ar2 I 45,000 40,000 5,000
o2z BMI=s 2 (4,0t8H]) 45,000
MOtS&a 3 7,200 7,200 0
= 3,600
s 3,600
301 e A= 7,200 7,200 0
< 3,600
s 3,600
02 Zet=z¢e k= 7,200 7,200 0
OMOI=sZsae= 7,200
< 3,600
e 3,600
O I 2 AR 50,000 50,000 0
< 25,000
s 25,000
308 XX EHSOIA 50,000 50,000 0
< 25,000
s 25,000
08 WEII20HetE = 50,000 50,000 0
OsHEXNA & ZAE X & 50,000
< 25,000
[ia 25,000
TUNAUH2H 12,000 12,000 0
el BT A g 12,000 12,000 0
201 L2l 12,000 12,000 0
03 &Ar2 I 12,000 12,000 0
og& otztalol 1,500,000& 82l 12,000
HY A (A XA 9,938,725 9,328,063 610,662
el 2l 9,690,151 9,155,768 534,383
ol Al 9,690,151 9,155,768 534,383
101 @124 dl 1,045,715 1,064,632 A 18,917
01 2= 729,391 747,727 A 18,336
OAN2L2ZRSY HHZ(23H) 27,540
— 532 11,5913 x 1H «10Al 2t+ 128 1,391
— 6= 9,886% 9 x10Al 2t 123 10,677
A= 8,930 10 *10Al 2tx 128 10,716
- 9= 7,247+ 1H «10Al 2t <123 870
— A 9,529& «1H *10Al 2t+ 128 1,144
—tA(63) 9,886 «2H x10Al 2t 1,780
—ItA(83) 8,016 «1H *10Al 2t+ 128 962
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(@IME=PNEN:] 200,000 »2H x12& 4,800
02 JIEt& E % 7,272 7,853 A 581
OdE23FEA(T2) 3,604
—ANZ2AZ R (HFHZ)
L5083 x 1 x10A| 2Hx12& 901
— X2 7,508& 1 *30A| 2+ 128 2,703
OFHIAF (1Y) 3,668
—AN2AZ R4S (HHE)
7,641 *1H +x10A| 2tx12& 917
— X2 E 7,641« 1H *30A| 2+ 128 2,751
03 I HL22 NHE 309,052 309,052 0
Ol & 2 15,000,000& x5 75,000
O=0dZ2 22 2,181,951,000& *4 .5% 98,188
olnssggs B2 3,821, 158,000& *1.4% 53,497
OdtlEe=s |23 82,367
—AIREX S(35%) 645,234,000 * 1% 6,453
— 01822 (39¢) 1,536,717,000& *4.94% 75,914
303 A2 1,239,578 1,239,578 0
02 A= 1,239,578 1,239,578 0
O&dAaH23 14,874,931,000& x1/12 1,239,578
304 H=2R2S=2S 7,317,358 6,684,898 632,460
01=82g=2 6,219,683 5,587,223 632,460
odzZ2eg2 36, 156,732,000& *7.0% 2,530,972
oBdZ 2= 36, 156,732,000& *4 .868% 1,760,110
OMalEa 2432 36, 156,732,000& *0. 119% 43,027
O &Y 232 36, 156,732,000& *5.215% 1,885,574
02 20UAHLLEE S 1,097,675 1,097,675 0
O=0ALEHHN st AAXNHANEBEE S
35,524,019,000& *2.90% 1,030,197
OILABE = 1,030, 197,000& *6.55% 67,478
307 QI2t0| ™ 87,500 87,500 0
07 d=X==2 87,500 87,500 0
ORXZ0HH = 87,500
— AMXoZ 67,500
— MoHEES 20,000
=l 248,574 172,295 76,279
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